Recall...

If a number divides into another number evenly, the
divisor is a factor of the larger number.

For example-
12/4 = 3
There is no remainder, so 4 is a factor of 12, as is 3

3.
4 [12
Dividing evenly (with no remainder) enables us to

factor the dividend. The divisor (here, 4) and quotient
(3) are factors of 12.

We will do the same with polynomials that we can't
factor using one of our methods.



Consider...




Sec 3.3
Dividing Polynomials- Long Division

Divide x2 + 10 +3
(K X=X +21
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Suggested Practice
Sec 3.3, page 373
1-16 odd

students find #15 tricky....please attempt...
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